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Run 4359 triggerwise, sums: All

Entries: 2921390

Mean: 5430.3656 +/- 2.5410

Std Dev: 4343.1549 +/- 1.7968

Run 4359 triggerwise, sums: All
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Run 4359 triggerwise, sums: Beam OFF

Entries: 9469

Mean: 6161.1235 +/- 71.8121

Std Dev: 6987.9482 +/- 50.7788

Run 4359 triggerwise, sums: Beam OFF
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Run 4359 triggerwise, sums: Beam ON, Laser ON

Helicity==0

Helicity==1
Entries: 966984

Mean: 5938.3118 +/- 4.9563

Std Dev: 4873.7513 +/- 3.5046

Entries: 966624

Mean: 5958.3512 +/- 4.9735

Std Dev: 4889.8155 +/- 3.5168

Run 4359 triggerwise, sums: Beam ON, Laser ON
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Run 4359 triggerwise, sums: Beam ON, Laser OFF

Helicity==0

Helicity==1
Entries: 473007

Mean: 4355.8204 +/- 3.6973

Std Dev: 2542.8349 +/- 2.6144

Entries: 472989

Mean: 4366.4594 +/- 3.7155

Std Dev: 2555.3369 +/- 2.6273

Run 4359 triggerwise, sums: Beam ON, Laser OFF
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